
500 EXC-F 2021 <2021><EU><F8503U9>
ACCESSORY PACK

52312

Pos Part Number Description Additional Text Quantity

0 312313 KTM BALLPOINT PEN ORANGE 1.00

0 312305 DOCUMENTS BAG 2006 1.00

0 3210917 NOTEPAD 1.00

0 79603040033 FOOTREST-SET 1.00

0 58411098100 CONTACT WASHER M6 VSV-K6 2.00

0 0025050126 HH collar screw M5x12 TX30 2.00

0 7910309400030 Frame protection set 1.00

0 58412080400 Rear reflector red 1.00

0 0019080206S FLAT HEAD SCREW M. ISA45 M8X20 1.00

0 77405009065 Plug screw M12X1.25 WS17 1.00

0 58012040000 Rear view mirror left 1.00

0 58012140000 Rear view mirror right 1.00

0 58012040150 Clamp for mirror 2.00

0 78029072000 Spark plug wrench 1.00

0 00063004202 PRINT LABEL 60X51 MM 1.00

0 58412080300 REFLECTOR YELLOW ''CEV'' ONLY USA & AUS 2.00

0 20180189INT Sticker accessory kit 1.00

0 20180204INT KTM Bypack Folder Offroad 1.00

0 79711081000 flasher harness rear 1.00

0 72111080000 Flasher harness front 1.00

0 60408061050 RUBBER 14X6.5X2.3MM 2.00

0 00063004107 SPIRALHÜLSEN EXC 2.00

0 00063004108 Bubble wrap blanks 80MY 2.00

0 79708016000 License plate holder extension 1.00

0 79712099000 Seperate enclosure for turn si 1.00

0 79233029013 Sprocket 13-t 1.00

0 7960218204430 Handguard 1.00

0 79602084044 Handguard assembly kit Brembo only 1.00



0 77202002144 Bar pad cmpl. 1.00

0 00063004012 HEADLIGHT MASK BOX 1.00

0 79002014100 CAM 4-T 39,5 MM 1.00

0 81212016100 WASH CAP SET 1.00

0 000700000AN01 Dummy plug 4-pins 1.00

0 52000238SET Sticker set Xplor OC 238x182.5 1.00

0 78141013190 FUEL FILTER 3.00

0 0017060255 EJOT PT SCREW K60X25-Z SW6 2.00

1 3214012EN Own. Man. 450 EXC-F/SIX DAYS 5 1.00

29 54829099100 TOOL KIT 2012 1.00

30 53012028200 GRIP ORANGE B&F 1.00

31 50329080100 WRENCH SW=17/21/27/32 B&F 1.00

33 60029070300 T-WRENCH WS=6/8/10/TX45/SK4X1 1.00

34 50329072000 SPOKE-SPANNER WS 7/10 1.00


